MITETER

12A118 (A)
=
12A17H (H)

B | H R - . .
H i BRAW-2ETEHE - ERBBRETE
B | & |1]2|3]4]5]6|®|&E
e ~
\?7:454 1AL 1A2:1A3i174i 115116 e )@’Eﬁﬁﬁ,,\ AT Y 5-18:300MSLSC: 19:005 #i.C
N~ */\
1 1 A 2& 211282 2513 204i 2515:2086| ¥¢ | O
3H1:3H2:33i3H4i3/15i3H6
A+ Media Control Day
BRI 5-18:300SL SC/ L —
\?7'45“; TR 1R2E1K3E 14 1K5: 16 ) P
= [ 3FmwTl+ weEEr |~
12 K | g {20 2o ks s 25 v 5 | [ N\ E-mEr) MitaEskenRE ‘
= ngﬁmi = .8 _UL: * L<L (1) EiBA%5HD — $7_'4\597\ l
S U I 1 0 IO iR 1= (2) HEM=9% HLT L EH10omelE
A E-TIME szl -2 F#16:00
DRI K2! 1A3E 1k 15 1k6 gjﬂgﬁi@iﬁ%ﬁ%ﬁﬁﬁ&ﬁ HMER R UHE R R AT &%
13 X i 2/K1i 2k2 2k3i 2k4i 2/k5i 2k6| Yo | O (R B 5-18:30 ST
3/K1i 3/k2i 3/k3i 3/k4i 3/K5: 3/k6
A
AL k2! 143 1A4i 1401 5% 7oLk AR 5 1 AT AT A B IE T B (B /N 14:0022 1
X NHMEME SRR (R 28) 16:00
14| = E%ﬁ okliok2i oksiokaiokli 2k6| ¥ | O (AT 518:30 58S TS
) X 5RBE=£1, 6RF1E=-FTX
3K1i 3K2: 3AK3i 3K4i 341 346
A
AN % 3 = PAN .
1451 1422 14231 14241 1425 et ﬁiﬁ}'ﬁ%%éﬁ #8C-0 (A A 5-18:30 ST
FERITE S BRI LD DFEHEO (145 2-2)
o 13:05~13:25 Fftit-tHEE
15| ¢ 7'?( 261} 24221 2631 2641 2005 *|O P
% = v = RAVNER-BEE - BY
X SR =2REBREEIN 3301400 200 HHES )
3421} 34:2i 34:3] 341 345 (#F £REHS]
i R i e S A X ®T150%~TEFRBEMEASR)
1A4:1)15{1)16: 112{ 1/13 FERLHRFEREIREEE) - REEe |2 P HEUEREWE)~1T  (REHES18:0005LSC
16 + 2’? 2141 945! 25161 25121 9k6 ¥ | x [ERFPTARS R P=f2 AEEETRAO|RENRTUISHIN & (?)8:30/E4E14
~1245 #H&
S s RHB1A [LHIRK] %A45623 12:45~13:10 3t BRE- A A2 IR BREBHER
13:10~13:25 5E%E- BIRH
13:30~14:20 B X TH. MBEEETR
17| & @] 14:30~15:10 LERBESR
15:20~15:40 ERBSPTARS
A
KA (5534:8) OF &
i 145011201134 141 1150 116 WO XERR % BEA) VL YSERH RS 22 (259 25U E) 13:30
18| A |25z s 2n s 2 *|O (e B 15 5 18:300MSLSC: 19:008 #iC
34:513H2131313H413/1513H6
JHE | 1K1 1K2 131 1K 4IRS 1K6 BRZ#0 BAHER2O R AR 5-18:300SL SC/RL—
19 &k | H |201i2m2 2siomai2nsione| ¢ | X | B B RAALO
& |00t} 32l sl sekeat st 3
I EESHESHUEHESHESHPE: RiIE R EREAIC L BB DR Q14 2-3)  [&DRrHRIVA A1 2:000E THE 751 1% 5-18:305STJ
20| %« E'] 21} 2/k2i 2k3i 2k4i 2k5] 2k6| Yo | O
3/Kk11 3721 3/k313/Kk41 3/k51 3/Kk6
i 1AL IAR2E 1K3] 1441 14:21 146 T AT A 5-18:30 (ST
21| & wp |2A12A2 24 2k 262 2k6) 3t | O [#4:4E2(6)
311 3K21 331 3K41 34:21 3K6
i 1631404} 17§ 47 1111 W2 S A 2 2t —F g x— Ay N—= L HHEL (i8E7) 8:30
22| & | |2eezen 47 7 2| | X PARBERHATR) AT EE 118:30 ST
34313441 71 17 1341
23| £ O|@xugttn TRE R 5 18:0003LSC
24| H X |&FREN12/24~1/T




